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The question paper is divided into four sections. Section A,
Section B, Section C and Section D.

The question paper has 26 questions in all.

All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 7 are very short answer type
questions. Each question carries 1 mark. Answers to these
should not exceed 30 words.




(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers of these questions should not exceed 80 words
each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers of these questions should not exceed 100 words
each.

(viii) Question number 26 is a map question of 5 marks with two
parts — 26 A from History (2 marks) and 26 B from Geography
(3 marks). After completion, attach the map inside your answer-

book.
WUE-h
SECTION-A
1. 199 yramset & IR JAT | feleh &3 H IgRaTe 'q?rwwrﬁ%m
YT

A Tear & e frerra § HIARE! 3 dvrerm 6 e S

Interpret the concept of ‘liberalisation’ in the field of economic
sphere during the nineteenth century in Europe.

OR
Interpret the contribution of French in the economic development
of Mekong delta region. |

2. O H ETY ¥ DU h qhATR hd TR TS 7
HYar
gt wwiedl # SfgaTe WishA A Iu=IE il AR B AgH H FE
eI i 7
How had hand printing technology introduced in Japan?

OR
How had translation process of novels into regional languages
helped to spread their popularity?
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3. oS H atfa g - fefiet & fow 358 soert 87
HAYAT
Hite 3Em - et & forg S8 saer 27
How is over irrigation responsible for land degradation in Punjab?

OR
How is cement industry responsible for land degradation?

4. TSHifes &9 @ gET TR S AR GUR Hat R 511 Tehd 27

How can democratic reforms be carried out by political conscious
citizens ?

5. e grfior werEdl o foTe It o o wey # foehra s wied /)
el 27
JraT
TSITel o B SR o1 foemme o1 e a2 gehar 27

What may be a goal of landless rural labourers regarding their
income?

OR
What may be a goal of prosperous farmer of Punjab?

6. ‘WUt g ‘facdiaes &meni § far ey R

Distinguish between ‘primary’ and ‘secondary’ sectors.

7. S 31T IYTETAT 0T & side) 2o UL =t T 91 o 87

Why do banks or lenders demand collateral against loans?

Q|us-d"
SECTION-B

8. Hdiferyd i fedr i wiEfElt fre & sref &t 3 for wepr @ fomam
17 IETEN Hied AT i

HAAT
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o &t anféfer wmifq & oo Romdier i smenett < Seewl aftg
=TT hifsg|

How had Napoleonic code exported to the regions under French
control ? Explain with examples.

OR
Explain with examples the three barriers that are responsible to
economic growth in Vietnam.

9. It TSt ford YRR o1l § e fsd Tl 1 we el Icares o
817 3R Afed =are Hifve| 3x1=3
FraT
9 ° IeAgell @t % SR 3w R R @il % foe gear @
3ueTed &l T8 A7 ISTEWN Afed saredT hifvg)

How had the Imperial State in China been the major producer of
printed material for a long time? Explain with examples.

OR
How had novels been easily available to the masses in Europe
during nineteenth century? Explain with examples.

10. ‘&t e =g’ A foredl oy ferwanati s oot iR 3x1=3
HYAT
“wlie v g i el i g femensti =1 aofa i)
Describe any three main features of ‘Rabi crop season.’

OR
Describe any three main features of ‘Kharif crop season.’

11. “rd # foemer R wedt sEe e ) gelsar w1 afomm & wwdt
21" 59 %y w1 faveryw Aifs Ix1=3

“Water scarcity may be an outcome of large and growing
population in India.” Analyse the statement.

12. ‘Tl Sremaifer <wr o wmiires fafimanatt v stk 31 v gy o1a @

3R Ty ot 71 wadt 217 i Afed 39 e 1 gy Aifv) 3
rerar
E5E
&
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gt foTe TeHifa Y g e 8177 T e Y v iR

“The assertion of social diversities in a democratic country is very

normal and can be healthy.” Justify the statement with arguments.
OR .

“Social divisions affect politics.” Examine the statement.

13. “'9Rd H AW % 91 @ Afensit f fufy § $o guw gan 2, wy
3eft oft qgeui @ Hrhl S 817 39 e 1 fawdive Hifvw | 3x1=3

“Women still lag much behind men in India despite some
improvements since independence.” Analyse the statement.

14. 9 H THifoes el 1 5w wor e @ e o & w9 § aea
forereht 87 Iemewon witq =amen fifvm| 1+1%=3

How are political parties recognized as regional and national
parties in India? Explain with examples.

15. “‘waierw § firree % ufom wwie oft e dmnett @ e e w1
$9 HY I ~ATAET SeT | 3

“Consequences of environmental degradation do not respect
national or state boundaries.”’ Justify the statement.

16. WA # ‘qeliae &% Wecaqul 941 81 @1 87 Rl i ron i sqre
it 3
HAAT
feret @91 % Heoher wteg 3ee (SLEdh.) J w F R fifdre ageil
3T AT 1 T 5 Y R &7 Sereor wfia T i
Why is the ‘tertiary sector’ becoming important in India? Explain
any three reasons.
‘ OR
How do we count various goods and services for calculating Gross
Domestic Product (G.D.P.) of a country? Explain with example.
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17. felen e & =eor 3 o=l Gdl & weea &1 aui i) 3x1=3
HYAn
ST 0 % Bl T FSERI T IS ATt L THE] 1 Jui FIRf)
Describe the importance of formal sources of credit in the
economic development.
OR
Describe the bad effects of informal sources of credit on borrowers.

18. I9wieht o ‘afogfd framor’ o srfererr 1 3w R TR 9 A
7 JaTeTr Higd samen Hif| 3

How can consumers use their ‘Right to Seek Redressal’? Explain
with example.

@Ue-T
SECTION-C
19. 1930 ¥ fren 2fordi = efia o vy’ & anfeq frar? sgh
Iuafedrt s guiq fifsm| 1+4=5
7T

“afe Ira e’ vee o qftfta Sifvte) ‘afimw g sieeH’
H i o e foRam e it wrwfirar &1 gl Sifsm|

Who had  organized the dalits into the ‘Depressed Classes
Association’ in 1930? Describe his achievements.

OR
Define the term ‘Civil Disobedience Movement.” Describe the
participation of rich and poor peasant communities in the ‘Civil
Disobedience Movement.’

20. ‘Iegell sraredt st o sreleTaen &1 ®9 74 FA § WRAT SR 3 U
W&ﬁmwﬁsﬁ[’wmmﬁsﬁwﬁﬁm 5x1=5
Jrerat
‘sfielf sraTedt o TEe qTeh e W H SR F1 WEY E geamal
1 =Ue H 311 gt o119 HUA A1 frgervor i

= EEE
O £iim
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HAAT

“smregfie et B STEeRT 3 Sl % TET T e Y9 STl 1
e o T dedf & 39 e ot foretwor shifsg|
“Indian trade had played a crucial role in the late nineteenth
century world economy.” Analyze the statement.

OR
“Series of changes affected the pattern of industrialization in India
by the early twentieth century.” Analyze the statement.

OR
“Industrialization had changed the form of urbanization in the
modern period.” Analyze the statement with special reference of
London.

21. wTE § 3an gaterer e ¥ fae frg yer R 27 3eEw
gfed Tz Shifse| 5x1=5

How are industries responsible for environmental degradation in
India? Explain with examples.

22. “‘qra § geF uiEed, Yo aiEed o e stfes glaasee 817 s
=t 3erE afed gie i) S5x1=5

“Roadways still have an edge over railways in India.” Support the
statement with examples.

23. feufd, sTehm afit wiefae deqell  SMuR W afesad 3 At i
fesrfe =t gemm shifsil 1+143=5
Jrora
Frrer =1 R 0 T STET? W €9 Yeford T sl g &
fafira eyt i =men FHiNg|

‘Compare the situation of Belgium and Sri Lanka considering their
location, size and cultural aspects.

OR
How is the idea of power sharing emerged? Explain different forms
that have common arrangements of power sharing.
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24. Rrdawr ok 39 EF & &9 § Aldite o9aedT & Hec $1 avid
Fifsr| 5x1=5

Describe the importance of democratic government as an
accountable and legitimate government.

25. SEUSH SulAT 3cated % o e SR FR@™! i e fofere &
o & ot Tenfira et 87 forrel oife skl <ht s hifs| T8x1=5

Why do multinational corporations (MNCs) set up their offices and
factories in certain areas only? Explain any five reasons.

Qug-g (AHH 99)
SECTION-D (Map Question)
26. (A) 2 9T A 3R B T MU 9y & TeHifow Tar-wEtes # i
foru T ¥ | 39 @ A Feferfaa SEeRt i wEEar @ 9=
PR 3T Tt A AR i s Y w fiia- 1x2=2
(a) 9% T el AT T kg 1 Ay gl
(b) d€ TR &l SAfrataret s i 9T g5 |
(B) 7&ft fow Tu Wi o TsHifae Yar-amtes # Frafafed § @ fe
i = 3uges gl & aisy ofit 3k m forfaw: 1x3=3
() TFHAYFRH — AT el GIF
(i) TR - <frg ofit seuTd 993
(iii) ST - WAL TFATATSI qTeh
(iv) IREM - GH&l 9=
(v) GER G - 919
Me:  FrefaRaa we Feer giEarfem whenfeat & fog w7 @@ 26
© oA 1 fREl ater st I i - 1x5=5
(@) 38 Usa o A fafan stEt sfertaren an i we g
(i) 3@ Tsg 1 AW foafaw st st 3 T g drsl
(iif) 39 T 1 AW forftee st SR -= g wied gE |
(iv) 38 Tsg o1 am forfae st arrdi wE oo e 2|

= ELE
O #iim
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(A)

(B)

Note :

32/1/1

(v) 39 TsF 1 A fafau swf fsmam e o s g
fea Rl

(vi) 38 Ts¥ o1 9 fafaw s e diweam Siaist aeh
fem 2

(vii) EER U= &g forg 7t o s 27

Two features A and B are marked on the given political outline

map of India. Identify these features with the help of the

following information and write their correct names on the

lines marked near them.

(a) The place where the Indian National Congress Session
was held.

(b) The city where Jallianwalla Bagh incident took place.

Locate and label any three of the following with appropriate
symbols on the same given outline political map of India.
(i) Kalpakkam - Nuclear Power Plant

(ii) Vijayanagar - Iron and Steel Plant
(iii) Noida - Software Technology Park
(iv) Paradeep - Sea Port

(v) Sardar Sarovar - Dam

The following questions are for the Visually Impaired

Candidates only, in lieu of Q. No. 26. Attempt any five

questions.

(i)  Name the state where Jallianwalla Bagh incident took
place.

(i)  Name the state where Gandhiji violated the Salt Law.

(iii) Name the state where ‘Chauri-Chaura’ incident took
place.

‘(iv)  Name the state where Paradeep Sea Port is located.

y(v)  Name the state where Vijayanagar Iron and Steel Plant
is located.

(vi) Name the state where Noida Software Technology Park
is located.

(vii) On which river is Sardar Sarovar Dam constructed?
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Map for Q. No. 26
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